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Risk Assessment for Hoists 









	Site:
	
	Contract Number:
	

	Assessed by:
	Name:
	
	Position:
	
	Date:
	

	
	Signed:
	
	

	Description Of Work:
	Use of goods hoist to raise and lower materials. Use of passenger hoist to carry workers and visitors to different levels of a building.

	Task / Job Component
	Hazard
	Persons at risk
	Risk Rating L/M/H
	Controls / Precautions to Reduce Risk
	Residual Risk Rating

L/M/H

	
	Hoist Collapsing.
	Employees, visitors, other workers.
	H
	· Erected on a firm level base, supported in accordance with manufacturers’ instructions, by competent person before use.
· Test certificate to be retained and signed.

· Weekly inspections to be recorded.
· Only operated by trained and competent person.
	L

	
	Hoist Overload.
	Employees, visitors, other workers.
	H
	· Notices will be displayed indicating safe working load.

· On goods hoists, notice should prohibit carriage of passengers and on passenger hoists a notice should state the number of passengers permitted to be carried. 
	L

	
	Load falling from hoist
	Employees, visitors, other workers.
	H
	· All loads carried must be prevented from slipping or falling or fouling mast for hoist way.

· Hoist way will be entirely enclosed except for access points where materials could fall from platform and cause injury to persons.

· The construction of the cage should be such that falling materials or objects cannot causes danger to passengers.
	L

	
	Persons being trapped by moving parts.
	Employees, visitors, other workers.
	H
	· Hoist way and areas where persons can come into contact with moving parts should be protected by a substantial enclosure at least two metres high.
· Gates at least two metres high should be fitted at all access points.

· They should be kept closed, and notices to that effect displayed. 
	L

	
	Passengers falling from cage.
	Employees, visitors, other workers.
	H
	· Hoist to be fitted with interlocking device which ensures gates can only be opened when the cage is at a landing place.
	L

	
	Misuse of hoist.
	Employees, visitors, other workers.
	H
	· Hoist must be fitted with efficient overrun device.
· Hoist operator must be over the age of 18, trained and a holder of a certificate of competence to drive, which will be kept on site. 
	L

	Site-specific Activities
	Additional Site–specific Hazards
	Persons at risk
	
	Additional Controls Required
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Likelihood

How often could the hazard occur? Consider the task, frequency, duration, method of work, employees involved.

Severity

How serious would the hazard’s effects be if 

realised? Consider the type of hazard, biological, ergonomic, physical and chemical.

Risk = Likelihood x Severity 

E.g. Likelihood (4) X Severity (3) = 12 HIGH RISK
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